
Name____________________________________ Geometry 2-5 Reasoning in Geometry Worksheet 

Given the following statements, Name the definition, postulate or theorem that justifies the second statement. 
 
1.  P is the midpoint of 𝑀𝑅̅̅̅̅̅    1.____________________________________  
      𝑀𝑃̅̅ ̅̅ ̅ ≅ 𝑃𝑅̅̅ ̅̅  
 
2.  ∠1 and ∠2 are a linear pair    2._____________________________________ 
     ∠1and ∠2 are supplementary  
 
3.  𝐴𝐵 = 𝐵𝐶 and 𝐷𝐸 = 𝐸𝐹    3._____________________________________ 
     𝐴𝐵 + 𝐷𝐸 = 𝐵𝐶 + 𝐸𝐹  
 
4.  ∠1 ≅ ∠2      4._____________________________________  
     ∠2 ≅ ∠1 
 
 
5.  𝑚∠𝑊𝑋𝑌 + 𝑚∠𝑌𝑋𝑍 = 𝑚∠𝑊𝑋𝑍   5.______________________________________ 
 
 
6.  6(x + 4)      6.______________________________________ 
      6x + 24  
 
7.  ∠5&∠6 are complementary    7________________________________________ 
     ∠6&∠7  are complementary   
 ∠5 ≅ ∠7 
 
8.  𝑀𝑁̅̅ ̅̅ ̅ ≅ 𝑃𝑄̅̅ ̅̅  and 𝑃𝑄̅̅ ̅̅ ≅ 𝑅𝑆̅̅̅̅     8.________________________________________ 

 𝑀𝑁̅̅ ̅̅ ̅ ≅ 𝑅𝑆̅̅̅̅   
 
9.  𝐸𝐹̅̅ ̅̅ + 𝐹𝐺̅̅ ̅̅ = 𝐸𝐺̅̅ ̅̅      9._________________________________________ 
 
10.  ∠3 & ∠4 are supplementary   10.________________________________________ 
       𝑚∠3 + 𝑚∠4 = 180 
  
 

11.  𝑈𝑋⃗⃗ ⃗⃗  ⃗ bisects ∠𝑇𝑈𝑉     11.________________________________________ 
       ∠𝑇𝑈𝑋 ≅ ∠𝑋𝑈𝑉 
 
 
12.  𝑚∠3 = 𝑚∠4     12.__________________________________________ 
        ∠3 ≅ ∠4 
 

13.  𝐶𝐸⃡⃗ ⃗⃗ ⊥ 𝐴𝐹⃡⃗⃗⃗  ⃗ at point D     13.__________________________________________ 
       ∠𝐶𝐷𝐹 is a right angle   
 
14.  ∠𝐴𝐵𝐶&∠𝐷𝐸𝐹 are supplementary   14.________________________________________ 
        ∠𝐷𝐸𝐹&∠𝐻𝐼𝐽  are supplementary   
 ∠𝐴𝐵𝐶 ≅ ∠𝐻𝐼𝐹 
 
15.  𝑚∠1 = 𝑚∠2 and 𝑚∠3 = 𝑚∠4   15._________________________________________ 
        𝑚∠1 − 𝑚∠3 = 𝑚∠2 − 𝑚∠4 
    



Use each property to complete each statement 
16.  Symmetric Property: If 𝐷𝐸̅̅ ̅̅ ≅ 𝐺𝐼̅̅ ̅, then________________________________________ 
 
17.  Transitive Property:   If 𝑚∠𝐴 + 𝑚∠𝐶 = 𝑚∠𝐹 and 𝑚∠𝐹 = 𝑚∠𝐻, then_____________________________ 
 
18.  Substitution Property: If 𝑚∠𝑄 − 𝑚∠𝑅 = 65 and 𝑚∠𝑄 = 𝑚∠𝑇, then_______________________________ 
 
19.  Reflexive Property:   𝑋𝑌 =________________ 
 
20.  Addition Property:  If m∠𝑁 = 𝑚∠𝑆 and 𝑚∠𝐵 = 𝑚∠𝐷, then________________________________ 
 
21.  Subtraction Property:    If 𝐴𝐵 + 5 = 𝐶𝐷 + 5, then_________________________________ 
 

22.  Multiplication Property:   If  
𝐶𝐷

3
= 20, then______________________________________ 

 
23.  Division Property:     If 5𝐾𝐿 = 60, then_________________________________ 
 
24. Transitive Property  If AB = 9 and CD = 9, then _________________________________ 
 
25. Substitution Property If XM + YZ = 75 and YZ =30, then ______________________________ 
 
 


